Unknown Symbols in Equations (G)

Name:

B=19-6
13—-5=0
28 — A =20
34 — 18 =1
o=5-—2

®=15—8
* — 19 =16
28 — & = 20
28 — 10 = 4
Y—18=38

Date:

Determine the value of each symbol.

13-® =4
20=Vv—5
23 — ¢ =10
20— 11=§
e —10="2

13=29—-3
12=@—9
— &4

3317 =1
£—20=9
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Unknown Symbols in Equations (G) Answers

Name:
BM=-19-6
H-—13
13-5=0
Q =
28 — A\ =20
/\ =
34 —18 =1
t =16
o =5—2
r—
®»=15—-8
@:

% — 19 =16
% = 35

28 — & =20
% =28

28 — 10 = 4
4 =18
U—18 =8
U =26

Date:

Determine the value of each symbol.

13— ® =4
® =9
20=v-—-5
v=25
23— ¢ =10
¢ —13
20— 11 =4§
§:
e —10=2
o —12

13 =29 — <
O =16
12=& -9
b =21

— & —4
=7
33—17=b
1= 16

£ —20=09
£ =29
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